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ololl(&&& 1) (21.1) (30.5) (36.2) (29.4) (.0) (31.7) (7.7) (42.9) (50.0) (30.0) (40.7)
dEs =8 Wol .12, 186 70 9 o 229 10 23 22 3 58
S= == (63.2) (63.8) (53.8) (52.9) (66.7) (59.9) 76.9) (54.8) (45.8) (30.0) (51.3)
A B o=l 2 11 12 3 1 29 1 2 4 8
et &2 (10.5) (5.2) (9.2) (17.6) (33.3) (7.6) (7.7) (2.4) (4.2) (40.0) (7.1)
1 1 1 1 0 0 3 1 0 0 0 1
(5.3) (5 (8 (0) (0 (8 (7.7 (.0) (.0) (.0) (.9)
i 19 213 130 17 3 382 13 42 48 10 113
(100) (100) (100) (100) (100) (100) (100) (100)  (100)  (100) (100)
X 2(df) 16.601(12) 32.645(9) **
xxx p<.001
(B IV-22) ¢} #o] gxn odddd sty AAEd 714 7Idss A o)
Fo3k Aol7t Qe Ao® yelwth wAl dEYE sy AAE 7 7 Eke
Ao s o3 A7F A=7E HEE A p<00l FFEAA FY3F Aozt
2000 (76.9%), 30tH(54.8%) A= A S F3k Ao 7=, 4000(50.0%) wA= 7
shlglo] ik o]&l], 50t AP 40.0%7F HAl #EH])Eol| i AR we J|gE
3t e Aoz vyt nAgEw ety AAE 71 7lgste Aol s
Fo3 A7F JdevtE 15 Aae (F V-23) 3 2.
(E V-23) w4l g AAEo] gt 7]t
DA DR A
10 0jor 20 0|0 201 Ol & (%)
e o oy 16 15 15 46
0l5H(Bfs s 1) (37.2) (40.5) (45.5) (40.7)
o == 24 22 12 58
Mes S Mol (55.8) (59.5) (36.4) (51.3)
Zo WA =0 e 2 0 6 8
M @7 (.0) (18.2) 7.1)
1 0 0 1
JIE ©2.3) (.0) (.0) (.9)
_ 43 37 33 13
& (100) (100) (100) (100)
X 2(df) 12.748(6) *
* p<.05
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(E IV-23) 3 o] p<05 FollA frolgh ztol7b vk wA 4= o] 10d mrka}
20 WEHl A4S AAZe] U@ el AWS B AVE, 204 o de] WA

22 7kl abe A add g olsd des Aoz $uag

H

N g bShl

&l _
Rl Ml == N2 PN =l = = =20 my\: g(%)
cop Ay 13 29 29 7 56 50 184 56 95 33 184
- =< (9.5) (13.2) (16.4) (10.9) (25.5) (28.7) (17.9) (10.5) (24.7) (29.2) (17.9)
AN=EN 25N 59 101 82 29 65 93 429 182 190 57 429
SROI0A 220t (43.1) (46.1) (46.3) (45.3) (29.5) (44.1) (41.7) 34.3) (49.5) (50.4) (41.7)
SN WE 23X 13 13 5 5] 42 13 91 43 38 10 91
Zoto 2g (9.5) (6.9) (2.8) (7.8) (19.1) (6.2) (8.9) (8.1) (9.9) (8.8) (8.9
3K L 2= X 50 75 60 23 57 54 319 246 60 13 319
ol s 28 (86.5) (34.2) (33.9) (35.9) (25.9) (25.6) (31.0) 46.3) (15.6) (11.5) (31.0)

. 2 1 1 0 0 1 5 4 1 0 5
(155) § (.5)=0106) ol 0[OV~ [(:5) (.5) (.8) (.3)  (.0) (.5)
3 137 219 177 64 220 211 1028 531 384 113 1028
& (100) 100) (100) (100) (100) (100) (100) (100) (100) (100) (100)
X 2(df) 79.525(20)  *** 134.638(8) ***
xxx p<.001

Bl ol 4 463%7 FASAL FEA §lo] ARFA B A
o, WAHE0A%)SH SREMUI5)E AFEA BEHY mSvoA ARete vy

Je Asehs Aoz vehg

1>



gy ne sy A5E T
X =5 S5

zs=uu mew pssw O ZEED ZSED sy zoaw gy
42 12 2 56 8 34 12 2 56
PO ES 12y (68 () (105) (181 (128) (67 (7. (10.5)
NsEAN 2&otH 103 70 9 182 18 85 70 9 182
S20/0H 22Js  (81.3) (39.8) (34.6) 34.3) (29.5) (82.0) (39.3) (34.6) 34.3)
StuolA LHE 25 16 2 43 7 17 17 2 43
sk #4000 2 (7.6) (9.1) (7.7) (8.1)  (11.5) (6.4) (9.6) (7.7) (8.1)
A AML 25X 157 76 13 246 28 128 7 13 246
210l AmEH 28 (47.7)  (43.2) (50.0) 46.3) (45.9) (48.1)  (43.3) (50.0) 46.3)
J1E 2 2 0 4 0 2 2 0 4
(6 () (0 (8 (0 (& (1) (0 (8
bp] 329 176 26 531 61 266 178 26 531
" (100)  (100) (100) (100) (100) ~ (100)  (100)  (100) (100)

X 2(df) 7.997(8) 10.324(12)

(FE IV-26) 852 wAl A=l 38t JA|E ek

=y y H

a2 ol DA o1 H A
® 3

20CH 300K 40K 500H 60CH ' 200H 300K 400K 50CH gi(o%)
- 1 51 3 7 0o 95 2 13 15 3 33
=RUH S (53) (23.9) (27.3) (41.2) (.0) (24.7) (15.4) (31.0) (31.3) (30.0) (29.2)
NeEH 20 009 109 66 4 2 190 8 22 23 4 57
SO0 R2IHs (47.4) (51.2) (50.0) (23.5) (66.7) (49.5) (61.5) (52.4) (47.9) (40.0) (50.4)
SO W= 1 19 14 3 1 38 3 5 1 10
ssx &ool0f 22 (53) (8.9) (10.6) (17.6) (33.3) (9.9) (7.7) (7.1) (10.4) (10.0) (8.8)
~#UHL ==X 8 33 16 3 0 60 2 4 5 2 13
S0l HSEA 22 (42.1) (15.5) (12.1) (17.6) (.0) (15.6) (15.4) (9.5) (10.4) (20.0) (11.5)
0 1 0 0 0 1 13 42 48 10 113
JIE (0) (5 (0 (0 (0 (3) (1000 (100) (100) (100) (100)
. 19 213 132 17 3 384 13 42 48 10 113
. (100) (100) (100) (100) (100) (100) (100) (100) (100) (100) (100)

< 2(df) 22 813(16) 2.887(9)
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(& V-26) & %
Ao vhehg

o]

X 2(df)=22.813(16), x 2(df)=2.887(N= fr2ldt zkel7F §le

479l gstd dAw g gis] fo3 A7F deEvtE Ass Ay
(( V-27) 3 2t}
(EIV-27) wAA48gd a3 AAE F g2
DA DEZH HH
10 0lo 20 0]ok 20 0] At 84 (%)
o 15 12 6 33
=20r 24 (34.9) (32.4) (18.2) (29.2)
NREA 2250 19 20 18 57
SLR0WH 22ots (44.2) (54.1) (54.5) (50.4)
SN UWZE 2=X 4 2 4 10
AT 2 9.3) (5.4) (12.1) (8.8)
AR =X 0] 5 8 5 13
NHSEAN 2 (11.6) (8.1) (15.2) (11.5)
43 37 33 13
& (100) (100) (100) (100)
X 2(df) 4.178(6)
(FE IV-20) T ZFo] x 2(df)=4.1786) = §-< 3t xfol7} ¢le= Aoz ey
5 T AA A 71 Fast A
A9d Jod B3y AA F b 2838 Ao fo3k A7 JEvE A= 2
HE (F NV-28 ¥ 2
(B IV-28) A9, g #gad dAA 5 7Y s8¢ A
Xt Zcts A
Sp M :
282 HME N2 2E FI) O st HEQ DAL gy
14 12 15 9 31 13 94 65 14 15 94
SAUWE  (101)  (55) (84) (14.1) (140) (6.2 (9.1) (121) (3.6) (13.3) (9.1)
oexm oz 17 3 3 10 58 36 187 86 82 19 187
=S S (12.3) (14.1) (19.6) (15.6) (26.2) (17.1) (18.1) (16.0) (21.4) (16.8) (18.1)
X E 0l 105 175 128 45 132 161 746 380 287 79 746
MEea Ozl (76.1) (79.5) (71.5) (70.3) (59.7) (76.3) (72.2) (70.9) (74.7) (69.9) (72.2)
. 2 2 1 0 0 1 6 5 1 0 6
(1.4) (9 (.6) (.0) (.0) (.5) (.6) (.9) (.3) (.0) (.6)
i 138 220 179 64 221 211 1033 536 384 113 1033
. (100) (100) (100) (100) (100) (100) (100) (100)  (100)  (100)  (100)
X (df) 37.387(15) ** 26.744(6) ***
#x p< 0l xx p<001

_35_



(B V-28) 3} o] ANl satyt dA F 71 523 Ao Fo3 A7 e

M ASE A p<0l FFEAA Fo3 ZFolrb gtk AAE BAEA AA 72.2%7}F
27449 A 787t Fostda SHsldey A7IAG(262%)3 HEA Y
(19.6%)9] #FA= WS4 7]50] Tttt $H3%
Aekd gy AA T 7P T3 Ao Fod A7 JdEvtE A5 A (&
IV-28) 3 o] p<001l F=olA F93 Aol7F A WA 722%7F AHA] AY
o 7187} Festn St o 133%9 wAE AA gl Mg Fasitiu
SHE AL ARSI AN Hoks w A Ae] wE = AAES wiH s #
gt FTxolo] g Ao R WS g9} AAE gk oldE FTuiAlY]
7] A3 AAUEo] Tositty I Aow AzHE

25, T, 15t et AA F bE F23 Aol g #od A

7F de=7tE A5 2= (B V-29) 9 £t
(B N-29 SAFE AZd 38ad AA F 718 2% A
T e ET =7
4 ==&t = =5

zssy s assy IS08 ESRY sy nssy gy

47 1| 74 1 65 13 34 17 1 65
SAlLE (14.2)  (96) (37 (121) (1.3 (126 (95 @7 (12.1)
1S Js 60 21 9 86 1 47 23 5 86
WERIS  (4181)  (11.9) (185) (16.0) (18.0)  (17.5) (12.8) (185 (16.0)
MNEAOl HE 2 138 21 380 36 185 138 21 380
13l (66.6) (78.0) (77.8) (70.9) (59.0) (68.8) (77.1) (77.8) (70.9)
e 4 1 0 5 1 3 1 0 5
(1.2)  (6) (.0) (9) (e (1) (.6) (0)  (9)

= 332 177 27 536 61 269 179 27 536

= (100) (100) (100) (100) (100) (100) (100) (100) (100)

x 2(df) 9.596(6) 12.115(9)

(E IV-29> 9} o] e AN T 714 T3 Ao s Fog A7t derts
A A3 fo3 A7) e AR YEY

SRw Ay 94 wAb Al ey AA F obg T3 Ao e feold 2ot
AE7ME HES AyE (F V-30) 3 2ok
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(F V-30) sH5n, wAl d3d gatad A4 3 718 223 4
s=o ol FCE A
PSD:
20CH 300H 400H 500K 600K C ' 20ch  som  400H 500 o (%)
1 6 4 3 0 14 1 8 6 0 15
aAltiE (5.3) (2.8) (3.0) (17.6) (0) (3.6) (7.7) (19.0) (12.5) (.0) (13.3)
e Js 2 42 30 7 1 82 0 9 7 3 19
SRS (105) (19.7) (22.7) (41.2) (33.3) (21.4) (.0) (21.4) (14.6) (30.0) (16.8)
NI Al HE2 16 164 98 7 2 287 12 25 35 7 79
biE] (84.2) (77.0) (74.2) (41.2) (66.7) (74.7) (92.3) (59.5) (72.9) (70.0) (69.9)
e o 1. 0 0 0 1 0 0 0 0 0
(0 (5 (0 (0 (O (3 (0 (0 (0 (0 (0
| 19 213 132 17 3 384 13 42 48 10 113
8 (100) (100) (100) (100) (100) (100) (100) (100) (100) (100) (100)
2(df) 18.450(12) 8.246(6)

(B V-30) 3 o] sh-& A 3 WA AgE Asd dA 5 7 8%
1}

2o el el A7 h=vke AT A3 ol Aolvt fle AleE YERt

wFAHE e AA F M T3 Ao g& F93 A7 ertE A5
A3= (F V-31) 3 249
(B V-3 mx48d Fded dA 5 713 T2 A

P EEE @
10 018t 20\ 0/gt 20 0] 4 24 (%)
. (186) (108) (01) (15.3)
us® s (14.0) (162) o1 2) (16.8)
RERE HEY JIE (67 4) 750) (©9.7) (66.9)
&l (100) (160) (100) (100}

X 2(df) 2.209(4)

(E V-31) # o] x 2(df)=22094) = <3t Zol7} fIE A= YEpt

_37_



(FE V-32) A9gd, Jad 713 Aol dAAE
PN xiche
~ - & _ — & A
22 ME M2 ZFE "I U3 st Al SI2Q WA
o 70 91 93 26 163 97 540 6 215 63 540
(53.0) 47.9() (65.5) (41.9) (78.0) (52.2) (58.6) (50.7) (70.0) (64.9) (58.6)
oL 62 98 49 36 46 89 380 255 91 34 380
(47.0) (51.6) (34.5) (58.1) (22.0) (47.8) (41.3) (49.3) (29.6) (35.1)  (41.3)
- 0 1 0 0 0 0 1 0 1 0 1
(.0) (.5) (.0) (.0) (.0) (.0) (.1) (.0) (.3) (.0) (.1)
" 132 190 142 62 209 186 921 517 307 97 921
= (100) (100) (100) (100) (100) (100) (100) (100) (100) (100) (100)
X 2(df) 59.557(10)  *** 34.142(4)
xxx p<.001
(F V-32) 9 Zo] A9 71 1442 A= f5d d&] F3 271 9l
SAE AFe Ay p<00l Tl gk Zol 7t 9tk FF(58.1%), AF(51.6%),
T(47.8%) A 92 71 QAR AA=o] it @& o v 4 71(78.0%)A 9 =
A& (655%), 9 (53.0%)A 9L QA dA =] vkl SHstAT) A, shi
WA 7HE AR AAES fFhd diEl fost AvE devtE ASd A
p<.001 FFoll A F&sk zol7k St} A 586% & SR, WA} A Fo 2 JH
ANFA R MAl =] 9l SHA .
25, T, 15 7 A AAEY fiel diE fY93% AUt
A=71E A5 23+ (7 V-33) 3 2t}
(F IV-33) g2, AFE 7HE Ad40 HAAE
stA = s NS 7
Lcs 5 5 a4 =s ES=L1 =5 c s
ZSSY BN DSy 35 0 fied BuM Dsa4 gy
" 183 64 15 262 39 144 64 15 262
(57.4) (37.2) (57.7)  (50.7) (68.4) (55.4) (36.8) (57.7) (50.7)
oL 136 108 11 255 18 116 110 11 255
(428)  (62.8) (42.3) (49.3) (31.6)  (44.6)  (63.2) (42.3) (49.3)
- 319 172 26 517 57 260 174 26 517
= (100) (100) (100)  (100) (100) (100) (100) (100)  (100)
X 2(df) 18.705(2)  *** 23.438(3) ***
xxx p<.001

(& IV-33) ¥ %ol p<.001
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S A(GT.7%)°] 7HE IEARD A=
AR AAze] itk SEEY. AT wE TP A J] HdAE

ol gg Booldt 2Eetm AShA( 684%), 25etm 1EA(554%), 1% 8

e

(57.7%)0] 7H AR AAl=e] vt SHaA L, Tl BF 63.2%7F A
[ex]

A AAlzol A=l tieh 5ol of et ST

(B V-34) S35 WAl dzdd 714 a5 el AAE
s5=20 o RCE A
ST
20Ch  300H  400h s00i G0 © N ooch  soch  40Ch 500N (o)
o 12 116 75 _ 10 — 28 25 3 63
(70.6) (69.0) (71.4) (66.7) (100.0) (70.0) (58.3) (75.7) (61.0) (42.9) (64.9)
U FE S a7 5 0 o 5 9 16 4 34
(29.4) (30.4) (28.6) (33.3) (.0) (29.6) (41.7) (24.3) (39.0) (57.1) (35.1)
- 0 1 0 0 0 1 0 0 0 0 0
(.0) (.6) (.0) (.0) (.0) (.3) (.0) (.0) (.0) (.0) (.0)
. o 168, | 105 | |15 o~ a7/ | 12 37 41 7 97
a (100) (100) (100) (100) (100) (100) (100)  (100)  (100) (100) (100)
X 2(df) 1.893(8) 3.886(3)
wAZHY FA AAIE fFFd da Fod 27t A=TtE A A
<E IV-35) 9 #Zo]l x 2df)=1549(2)& F9& Ao]7} Qe Ao veyth
(F N33 AR Y A4Ad AN E
DAl REZA A
10 0/ 20 0] ok 20 0] & 84(%)
o 26 22 15 63
(70.3) (66.7) (55.6) (64.9)
11 T 12 34
= 29.7) (33.3) (44.4) (35.1)
_ 37 33 27 97
& (100) (100) (100) (100)
X 2(df) 1.549(2)

A, Avd AAE A B Bs) BAW Ave (E NV-36) 3 2
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(E N30 A9, 49 A48 48 955

PNES=R=:] acod bS]
S _ _

28 HE M2 =BE 2O O SM RO DA oi(w)
e o= 69 75 84 07 93 9 417 294 85 38 417
— == (50.4) (34.6) (47.7) (42.2) (42.1) (33.3) (40.8) (55.3) (22.5) (33.9) (40.8)
<=2 o= | 55 111 81 24 93 109 473 194 223 56 473
e == (40.1) (51.2) (46.0) (37.5) (42.1) (52.7) (46.3) (36.5) (59.0) (50.0) (46.3)
<=2 o= 12 25 1 10 33 07 118 34 6 8 118
== === (8.8 (11.5) (6.3) (15.6) (14.9) (13.0) 11.5 (6.4) (17.5) (16.1) (11.5)
o= 6 0 3 2 2 14 10 4 0 14
e == @8 (00 @n (9 (o (.4 (1.9) () 0 (.4
A7 137 217 176 64 221 207 1022 532 378 112 1022
= (100)  (100)  (100)  (100)  (100)  (100) (100) (100) (100) (100) (100)

x 2(df) 36.472(15) ¥ 112.744(6) ***

wk p< 01 ##x p<.001

(F N-36) & Zo] A A= Ad w5=o] dsl ot A7 d=7ts A
g A p<0l FEodA fFold Aoz Utk A (B0.4%), M&47.7%), FF
(42.2%), 371(421%)A1 99 Bt w9 wrSeivkal S98h3la, A15(51.2%), o
T(B2.7%)A o] A= 2w WEeHI SHEH. SHA, SR, WA A=
A wE=d d& 73 27 de7ts ASe 23 p<00l FEoAA ol A
o7} gtk AL 553% % vl RbEaErha Seslal, sHER 59.0%, A 50.0%
7 27 wSsval St 2594, 94, s dAs Al HEE

el el A7t d=bE A Ak (E V-3 3 2

St " St HS PSh]
B = = X x=sstp xSstn .. s
ZSEM  ZsM DSEY 35 03 Ad_gE DM NSHY o(y)
e o= 200 82 12 294 38 162 82 12 294
TS (60.8)  (46.6)  (44.4)  (55.3)  (63.3)  (60.7) 46.1)  (444)  (55.3)
x2 at= 104 78 12 194 20 84 78 12 194
L= 25 (31.6)  (44.3)  (44.4)  (36.5)  (333)  (31.5) (43.8) (444  (36.5)
= OL= 20 11 3 34 2 18 11 3 34
£= 2= 6.1) ©3) (LD (64 (393 6.7) 6.2) (1) (6.4
=0 = 0 10 0 3 0 10
LENEES (1.5) 28) (0) (1.9) (.0) (1.1 (3.9) (0) (1.9)
bl 329 176 27 532 60 267 178 27 532
= (100) (100) (100) (100) (100) (100) (100) (100) (100)
X #(df) 12.956(6) 18.845(9)
* p<.05
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GE V3D 3 2o SATE 2 AFE ANE A BEEel del fol@ A7
QETHE AFE A3 p<0b FEAM KA Aok Ark 25 608%7F A
5 APl vig wtSsivhal ekl FEA 44.3%, LA 444% = 2w W
srba getach SAZE AAE A BEE ol 2F Ashd 638%,

al

SHetA L, T3 43.8%,

PE A W Ak e AAE AP wER g Fo% Ak QEAE A

(F V-3 2R, 2 438 A48 AF 55

seg oy WA o S

FSDr|

20CH 30CH  40CH 50CH 60CH 2004 30CH 40CH 500 (%)

e or= 6 40 33 5 1 85 5 19 14 0 38
T == (31.6) (18.9) (26.0) (29.4) (33.3) (22.5) (38.5)  (45.2) (29.2) (.0)  (33.9)
x= o= 11 125 78 7 9 223 8 17 24 7 56
se = (57.9) (59.0) (61.4) (41.2) (66.7) (59.0) (61.5)  (40.5) (50.0) (77.8)  (50.0)
x= sar= 2 44 15 5 0 66 0 6 10 2 18
=S =S (105) (20.8) (11.8)  (29.4) (.0)  (17.5) (.0) (14.3) (20.8) (22.2)  (16.1)
e soi= 0 3 1 0 0 4 0 0 0 0 0
T == (.0) (1.4 (.8 (.0) (o) (1.1) (.0) (.0) (.0) (.0) (.0)
A 19 212 127 17 3 378 13 42 48 9 12

= (100)  (100)  (100)  (100)  (100) (100)  (100) (100) (100)  (100)  (100)

X 2(df) 11.051(12) 10.595(6)

HAdo] ANE AW HEEA Gal BAF AR (E V-39 o o] fold

Aol7k g Aow thehy

(F V-39 2 AEE AAE 8 e

IFEEE &l
104 0/ 20 0l gt 204 04t o4 (%)
e os (458) @76) 8.1) (339
Z2 o5 (3905) (54.1) (59.4) (500
xZ 20 (176) (243) (155) 160
= A (160) (160) (100) (100)

< 2(df) 8.763(4)
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8) HAl= =2
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S
305
(29.9)
(16.3)
AT

30
(27.3)
9
(8.2)
AFo] 7}

ks
1

°
i

aL, AF(58.6%), A&

(21.8)
(22.4)
Sy

=]
A

o
e
A

T

s

43.094(6)
)

192
(36.2)
72
(13.6)
T}
=]

al

Ao Vet

Aot

305
(29.9)
166
(16.3)
AR
T

-

=

49
(23.7)

31
(15.0)
Az

3 p<.001 <Eoll A

Aol 7} ¢l

56
(25.3)
67
(30.3)
1
T,

°
il

AT

Mol o
g

Ao BEA 49%7 AAE AR blS

(563.4%), ¥5(53.1%), W

20
(31.3)
koksk
o
1
o}

i

°

(9.4)
!

(60.4%6) A & ol A

Z}8a}k

,_'7_

67
(37.6)

V-41)

3 WAF 636%, SHEE 550%7F 7 A

82.443(15)

(&
52
(24.2)

3
j\‘}‘_

<

A 36.2%
V-41) 3} 2ol

61
(44.9)
Hell o
5}
5}

9l AAE X
ko)

[e}

3
Ik

%}
Z)-8a)
A}
:117

AA

’

o

[ex]
ju—

< &Ct
Al
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e Qw9 b Aud AR 2duel ba fe8 ) AEAS 4%
3 Ail= (B V-41) 3 2ol #93k Hol7t gl Aoz ey
(E N-AD SR, oA aRd AN E 2y
s=o ol DA ol =
PSB:
200k 3004 400h 500 60 O omi  soni 400k 50CH o)
oe ac 10 87 29 6 1 83 1 15 13 i 30
B (52.6) (17.5) (22.5) (35.3) (33.3) (21.8) (8.3) (36.6) (27.1) (11.1) (27.3)
R, 7 120 71 9 > 209 9 25 29 7 70
-= (36.8) (56.6) (55.0) (52.9) (66.7) (55.0) (75.0) (61.0) (60.4) (77.8) (63.6)
z2 oz 2. 53 28 2 0 8 2 i 5 i 9
£3 08U (105) (25.0) (21.7) (11.8)  (0) (22.4) (16.7) (2.4) (10.4) (11.1) (8.2)
we ozg O 2 i 0 S 0 0 i 0 i
= (.0) (.9) (.8) (.0) (.0) (.8) (.0) (.0) (2.1) (.0) (.9)
. 19 212 129 17 3 380 12 41 48 9 110
= (100)  (100) (100) (100) (100) (100) (100) (100) (100)  (100)  (100)
« 2(df) 16.826(12) 8.782(9)
WAAHE AAE 22 g B4 Aye (E V-43) 3 2
(E V- ARG ANE 2
T EEE, =
10 Do 204 Ojgt 20 0f4k & (%)
o 1 11 8 30
L (26.8) (29.7) (25.0) (27.3)
. 26 23 21 70
=3 g (63.4) 62.2) (65.6) (63.6)
= e 4 2 3 9
£= o8B0 9.8) (5.4) (9.4) 8.2)
o oo 0 i 0 1
O & (0) ©.7) (0) (9)
) 41 37 32 110
& (100) (100) (100) (100)
X 2(df) 2.680(6)
(E IV-43) 3} 7ro] x 2(df)=2.680(6)2.2 &9 Zo|7} ¢l Aoz el
9) AAlE AHAta o=
A Aol AAE Az oo thate] F3 A7t JdeErtE HET
= (E IV-44) ¢ 2k
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28 ME ME =2ZE 20 o2 o0 sa  =mmo  aa 84 (%)

e 2o 45 20 30 11 34 32 172 129 35 8 172

. (331)  (9.3) (16.9) (17.2) (15.4) (15.4) (16.8) (243 (920 (72  (168)

X2 20 68 114 93 31 80 112 498 242 191 65 498

=2 (50.0) (52.8) (52.5) (48.4) (36.2) (53.8) (48.7) (45.6)  (50.3)  (58.6)  (48.7)

X2 @t 21 74 49 18 95 61 318 135 147 36 318

23 UBL (154 (@43) (27.7) (28.1) (43.0) (20.3) (31.1) (25.4)  (38.7)  (32.4)  (31.1)

o 2 8 5 4 12 3 34 25 7 2 34

We 08U () @7 8 63 (64 (4 @3 @7 (1's  (® (393

bShl 136 216 177 64 221 208 1022 531 380 111 1022

& (100)  (100) (100) (100) (100) (f00) (100) ~ (100)  (100)  (100)  (100)

x 2(df) 69.733(15) *** 50.187(6)
xxx p<.001

Al Aokl AAF AYzR o) 2o st {2 27t J=7E A5 4

Atk A 53.8%, AFAH 528% A EA
S 7149 BER 430% A

3} p<00l F=olA F9 8k Zo] 7}
dEAF 50.0%7F 25 Ao
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ANE dEAm olawel tal feld At ke A

Ao % e,

F34, L5 Hetn

T3 A3 (& N-45) 9 o] folg Aol gl=

(B N-45) A& A AAE AYaE oadl =
sM SIS =7
S S5 =SHAH S5 8H zsan xssD =5t S5
TS S TS UsSSHS 34 0|5t 4E~64 STe3S UsSeSS 94 (%)
T 77 47 5 129 1 66 47 5 129
- (23.5) (26.6) (18.5)  (24.3) (18.6) (24.8) (26.3) (18.5) (24.3)
== a0 150 80 12 042 23 127 80 12 242
== (45.9) (45.2) (44.4)  (45.6) (39.0) (47.7) (44.7) (44.4) (45.6)
x2 ojg .84 42 9 135 o1 63 42 9 135
e M= (25.7) (23.7) (83.3) (25.4) (35.8) (23.7) (23.5) (33.3) (25.4)
16 8 1 25 4 10 10 1 25
e 08 49 45 @7 (47 (68) (3.8) (5.6) (7)) (47)
03] 327 177 o7 531 59 266 179 o7 531
a (100)  (100)  (100)  (100)  (100)  (100)  (100)  (100)  (100)
X 2(df) 1.805(6) 7.384(9)
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SR oy 2 WAl Ao wE yetd HAE AYatg ols ko] i 93
274 QEIE HAEI AyE (B NV-46) 3 o] F93F ol e Ao e
wio},

(B NV-46) 835 wAl ded AAE AdAs o v
52 oy DA S
3
200h  30CH 40CH 5004 60CH 20CH 300K 40CH  500H  ©(%)
He a0 5 15 13 2 0 35 0 3 5 0 8
- (26.3) (7.0) (10.2) (11.8) (.0) (9.2) (.0) (7.1) (10.4) (.0) (7.2)

- 8 103 68 9 3 191 5 26 30 4 65

-e (42.1) (48.4) (53.1) (52.9) (100.0) (50.3) (41.7) (61.9) (62.5) (44.4) (58.8)

x2 omg 6. 92 44 5 0 147 6 12 13 5 36

e M= (31.6) (43.2) (34.4) (29.4) (.0) (38.7) (50.0) (28.6) (27.1) (55.6) (32.4)

we ozg O 3 3 1 0 7 1 1 0 0 2

= (.0) (1.4) (2.3) (5.9) (.0) 1.80)  (8.3) (2.4) (.0) (.0) (1.8)
- 19 213 128 17 3 380 12 42 48 9 111
= (100)  (100) (100) (100) (100) (100) (100) (100) (100)  (100) (100)

« 2(df) 15.583(12) 10.487(9)
wAFHE AXNE APz olg o tha] F3 A7t dErtE HEIT APdE
(E NV-47) 3 o] ¢ zol7t gle Aoz vehyt
(F N4y ARG ANE LGAE ol
DA DRz A
10 0ok 20 0] 204 04 &%)
o - 2 3 3 8
L e 4'8) 8.1) 9.4) (7.2)
. 24 22 19 65
== db (57.1) (59.5) (59.4) (58.6)
o 14 12 10 36
&= g (33.3) (32.4) (31.3) (32.4)
o o 2 0 0 2
O o8t (48) (.0) (.0) (18)
] 42 37 32 111
ax (100) (100) (100) (100)
X 2(df) 3.932(6)
10) ol&3l7] ol & AN =S
A998 Al olasty] olE e HAAEQ Fofl da F93 AUt JdestE A5

Ade (E V-48) 3} 2
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ya HE NE 2E 20 07 T YA

T — 3 T 5 14 11 65 51 1 3 65
T ©2) (5.0 (11.9) (7.9 (6.3) (5.3) (6.4)  (9.6) @9 @7 (64
we ol 33 85 70 14 101 64 367 165 160 42 367
wE 8 (24.3) (39.0) (39.5) (22.2) (45.7) (30.9) (35.9)  (31.0)  (42.2)  (37.8)  (35.9)
se o 8 110 77 36 95 120 519 264 194 61 519
= 8 (59.6) (50.5) (43.5) (57.1) (43.0) (58.0) (50.8)  (49.6)  (51.2)  (55.0)  (50.8)
F— 19 12 9 8 " 12 71 52 14 5 71
7 A (14.0) (55 (5.1) (12.7) (50) (5.8 (6.9  (9.8) @7 (45 (6.9
3 136 218 177 63 221 207 1022 532 379 111 1022

= (100)  (100) (100) (100) (100) (100)  (100) (100) (100) (100) (100)

2(df) 55.004(15)  *** 39.41066) °F

xxx p<.001

(E V-48) 7 #o] Aqd, o o|afaty] ol HAIES Fo sl FoJg
A7F Qe7teE Ase A p<00l FEolA Foldh AolE Btk FA(59.6%), B
F(57.1%), hT-(58.0%), ATAH(50.5%)2 #ATAE o]&fdl7] oH L& AA Eo]
He Holga FHIAL, 471(45.7%), N2(395%)A Y #FAE ol8str] o
& AAEY] 7 B Holgta gHEATh A, SR, WA o]y of 7

B0 wAH55.0%), BF-R(51.2%)= o5t 7] olel e HAAE 9
F71 A& "Holgta SHdd o, A 96%7F o AAES F7 W B
1 SHEATh o= HEFFAA L vl WE&ES oFst=E g0l HA X
7] WEolgta AZtArt. 254, T, LE5FAY ol3sty] oFe HAE F

oA tal o8 247t De7ts A5 AdE (FE NV-49) o 2ok

o

sty 7e sty B =
zsey  mas nssy IEoE ASSY =smu ansmy g@)

He et (e sn G4 ©e o &3 €0 7w b
RE BOT 5% oo @3 @0 @ry  @e  @dn @iy 6ro)
ME BOT 7)) (e (56 Goe)  W47e)  Wah  sin  sbe 06
He =L Y Gn @n ©8 @ s eh &9
axl (100)  dom) (o (o aby  (foo) o) ubh (oo

(df) 9.255(6) 19.472(9) *
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2SO, T4, D5 BE olsety] oel ANE ol U FAF A
o dEte AF A3 KA Aot i Aow deyon F4AZE ols
7 ol ANE ol Bl FAF A7k AEAE FFE AE E N4 % 2
o] p<.05 FENA feg Aol2 Ytk LEIA 556%, A 51.7%7} ol 85}l
e AANEY £7b Ae Welghx sPovt, 2EGW AT 220%E o5

oAy dAl=ol v ¥ota sda Zeshul ashd 332%= B "oltal &%

SRR AF 0 WAk A% olssb] el ANEel ol gl 3 A7 9

(B NV-50) SH-E, WAL ol &t 7] of & 1A &=
s2 o WAF o1
R R
200h 300K 400§  50CH  60CH 200h 300 40CH  50CH
P 0 4 7 0 Y . 0 1 2 0
= (.0)= (.9l A(5.5) § \('0) (0) (2.9 (.0 (2.4) (4.2) 0y (2.7)
T 82 62 9 ™" 5B/ [\ 6 19 15 2 42
=== (26.3) (38.5) (48.8) (52.9) (66.7) (42.2) (50.0) (45.2) (31.3) (22.2) (37.8)
=2 moc B Isalell2d | 55 5 1 194 6 19 29 7 61
== (567.9) (57.3) (43.3) (29.4) (33.3) (51.2) (50.0) (45.2) (60.4) (77.8) (55.0)
0o =0 3 5 3 3 0 14 0 3 2 0 5
B (15.8) (2.3) (2.4) (17.6) (.00 (387 (.00 (7.1) (4.2) (.0) (4.5)
- Lo @ _af YA, = AW 42 48 9 111
- (100) (100) (100) (100) (100) (100) (100)  (100) (100)  (100)  (100)
x 2(df) 32.180(12) ** 6.668(9)
#x p<.01

(% V-50p 3 o] st Afgd olgfar] e HAEe o dal o
A7F J=7ke AT A3 p0l FEAM Fof Aol S H oAk 2000(57.9%) S
%, 30tH(57.3%) - olsiety] ofgd dAlEe] ¢7F A2 Holdta SH )

U 60TH(66.7%), 50T1(52.9%), 40TH(48.8%) SHi-E = ol&falr] ofelE WA &
F7F B ol SIS WA Aol wE olsfsty] ofH B Fo
el foek A7k derks A5 Aade 7o Aot fle Aow vey

WA oldfsly] oe AAE] Fol diEl frold AvF A=TtE AT 4

W= (GE V-5D 3 2t

X

l
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(FE V-5 x4 offst7] oy dArleF

REEE &
104 0let 204 Olgt 204 04 & (%)
1 1 L 3
e ect (2.4) (2.7) (3.1) (2.7)
o - 18 17 7 42
ge molt (42.9) (45.9) (21.9) (37.8)
- o 20 7 2 3
He moltt (47.6) (45.9) (75.0) (55.0)
2 0
e = 71 (5.4) (.0) (4.5)
PSh] (100) (100) (100) (100)
< 2(df) 8.569(6)

(E IV-51> 7} o] x 2(df)=8569(6)% o]t x}o]7} 9= Aoz VEyt)

—
[S—
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>
il
bty
>
1o
2
oX,
ox

NS 2lehd
A —— = & A
22 ME N2 ZE ZI U BN Y
P 11 12 24 4 Ly 63 5 2 70
= (8.1) (5.8) (14.0) (6.3) (3.2) (5.8) (6.9) (12.1) (1.3) (1.8) (6.9)
ae mog .25, QUGN Ton o a CN4 129 98 28 255
=== (18.5) (21.8) (26.2) (11.1) (41.5) (19.9) (25.3) (24.8) (26.0) (25.2) (25.3)
A 63 103 72 25 89 91 443 237 163 43 443
- e (46.7) (47.7) (41.9) (39.7) (41.0) (44.2) (43.9) (45.5) (43.2) (88.7) (43.9)
me mog 28, 50 27 20 24 57 206 71 102 33 206
o= = (20.7) (23.1) (15.7) (31.7) (11.1) (27.7) (20.4) (13.6) (27.1)  (29.7) (20.4)
- 8 4 4 7 7 5 35 21 9 5 35
(5.9)  (1.9) (2.3) (11.1) (3.2) (2.4) (3.5) (4.0) (2.4) (4.5) (3.5)
- 135 216 172 63 217 206 1009 521 377 111 1009
< (100)  (100) (100) (100) (100) (100) (100)  (100)  (100)  (100)  (100)
X 2(df) 90.162(20)  *** 69.132(8) **

xxx p<.001
GE VB2 sh el Aew, Awd AAE A 4446 da folg A7 3
=48 Az 43 p<0l FERAA st 2ol narh AF47.7%), A9

(46.7%), H(44.2%)A 92 AA &) wA7F Atk Skl 74 71(41.5%)A



29 547 B dolgkn Sualrh S4 Snw wAE ANE 57
4440 tg Bool B4 455%7 AN £AV AT Swedn, Al
297%, SRRET1%E AT A7 AL Wolghn AT

2594, 94, 15T ANE 4 AP da foF At Qe

(E V-53) §AFE, ATE AAE &9 J4AHA
st = stu A= 3
xssw zma psse 0 ZSSD ZSHD zau azaa gy
e wo 14 0 63 13 6 14 0
< B (153) (8.0) (.00 (12.1) (2258 (138)  (7.9) (0 (12.1)
— 3 30 6 129 8 75 30 6 129
we o (29.1)  (17.1)  (23.1) (248) (31.6) (287)  (16.9)  (23.1) (24.8)
S 133 90 14 037 111 14 237
ik (41.6)  (51.4) (53.8) (45.5) (38.6)  (42.5)  (50.8)  (53.8) (45.5)
xe mog .36 30 5 71 32 5 71
== (11.3) (17.1) (19.2)  (13.6) (528} (12.3) (17.5) (19.2) (13.6)
o 9 1 1 o1 1 7 2 1 o1
e 20 o) (63 @8 (40 (1.8 (2.7 6.8)  (3.8) (40
03 320 175 26 521 57 261 177 26 521
a (100)  (100)  (100)  (100)  (100) ~ (i00)  (100)  (100)  (100)
X 2(df) 24.577(8) ** 32.559(12) **
#x p<.01

(E NV-53) 3 o] gatie] WeE ANE 22 A44d da G218 2371 9
p<Ol A 1% Aol§ mATh WS 538%, T4
514%€ HAAES w77t ARttty FHstdou 25344 44%= A= A
Fowe Holotu Susdh SNl he AANE Sl g@ el
o A7t de7te Hed A p<0l FEAAA ol

A 538%, F8HA 50.8%7F HAAZ9] Zabe] tha AAA ] o] st S}
DL, 25 Ashd 54.4%, 2T wohd 425%% e Aolghu AT

7oy aa o] me AAEY Sael gd AR gl fole A7 9
7lE A%% A%E E V50 9 ol £o% A7t gl Aew vehg
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(E V-54) 82 wA A HAAE Ao H44
slo0 o1y WAL AH X
S
200 3008 4004 5004 60CH & 20CH  30CH 4004 5000 gy(9)
e e 0 2 3 0 0 5 0 2 0 0 P
T (.00 (9 (24 (0 (0 (1.3 (.0) (4.8) (0)  (0) (1.8
we molCt 3 50 38 6 1 98 4 12 12 0 28
i (15.8) (23.7) (29.9) (35.3) (33.3) (26.0) (33.3) (28.6) (25.0) (.0) 25.2()
HoEi0 13 97 46 6 1 163 5 15 17 6
me0 (68.4) (46.0) (36.2) (35.3) (33.3) (43.2) (41.7) (35.7) (35.4) (66.7) (38.7)
O 2 59 36 4 1102 3 12 16 2 33
== (10.5) (28.0) (28.3) (23.5) (33.3) (27.1) (25.0) (28.6) (33.3) (22.2) (29.7)
e =0t 1 3 4 1 0 9 0 1 3 1 5
T (5.3)  (1.4) (3.1) (5.9) (.0 (2.4) (.0) (2.4) 6.3) (11.1)  (4.5)
3 19 211 127 17 3 377 12 42 48 9 111
= (100)  (100) (100) (100) (100) (100) (100) ~ (100)  (100) (100) (100)
X 2(df) 14.173(16) 10.778(12)

RAZEE AR A0 A4 dal fold A7 ks AFE A

(E IV-55) 9 #Zo] 93t zol7t gle Ao ey

(% IV-55) n& 48 AAE <29 HAA4
WA DEH el
10 0Igk 20& 0/8t 201 014 o (%)
T 9 (54 (0 0s)
e wolr (35.7) @16) (156) (252
= g 5iC <31§_13) <41o£.35) (4134.18) (3%?7)
Mo mO|Ch (2131_2) (312?4) <311(.)3) (2%?7)
e =o (©8) ) (9.4 @5)
SR (100 (100 (100 (100)

x 2(df) 11.398(8)

=
Aopd, Aod AANEe FHEd da £ A AEE AFF ARe
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(F IV-56) A9, Aebd AAY g9 S =
N zere HH
oop I—
28 HE A2 mE ZI OF StM 2D DA (%)
me =022 40 45 68 18 71 48 290 187 79 24 290
T S8 (299) (20.7) (40.2) (28.6) (32.7) (23.6) (28.9) (35.7) (21.0) (23.5) (28.9)
x= =0/28 75 142 84 29 126 135 591 272 253 66 591
£= S0I28 (56.0) (65.4) (49.7) (46.0) (58.1) (66.5) (58.9) 51.9) (67.1) 64.7) (58.9)
= o 14 25 13 10 17 18 97 43 42 12 97
22 S0I8N 8 oy (115 (77 (159 (7.8 (8.9 (@7 (82 (1.1) (118 (9.7
T 5 5 4 6 3 2 25 22 3 0 25
S0l 83 B7) (28 (24 (95 (14 (10) (25 (42 (8 (0 (23
& 134 217 169 63 217 203 1003 524 377 102 1003
= (100) (100) (100) (100) (100) (100) (100) (100) (100) (100) (100)
x 2(df) 44792(15)  ** 42.32006) **
xxx p<.001
(F IV-56) ¥ o] A9gE HAAWEY Sr=e dis] Fos A7F Jd=7tE A
=3t A3 p<00l oA FYsk ZolE B AA 58.9% T WTAY 66.5%,
AFAS 6564%7F =5 SHEFHIL 9D ALAY 402%E oS FrETE SH
SR oy FFA Y 159%E HE2 STuEA guia SEIAT g4, gHE 2 WA
ANl o & Fo3 A7F A=7FE AE3 23 p<00l =AM 79
3 z}olE WAt WAHG64.7%)9F SHER(67.1%)7F AA WLl FnETL LHIA
o, A 35.7%= WS- EvEor SEEAH.
254, T4, 15T AAN L Tujxd tid st 2t JdEIHE A
3 Ay (F V-57) ¥ 2ok
(2 N-57) GAT&, ASdH dAYE] Sv=
stAl = sta K= 7
zsma sy psma OO FSUD ZSUD o ncaw gy,
o = = 135 45 7 187 25 110 45 7 187
e S0ES @19 (@57  (259) (35.7)  (42.4) (42.1)  (25.4)  (25.9) (35.7)
X2 5|22 153 101 18 272 27 126 101 18 272
e = = (47.5) (57.7) (66.7) (51.9) (45.8) (48.3) (57.1) (66.7) (51.9)
g4z =0l 25 16 2 43 4 21 16 2 43
os R 7.4 (82 (6.8) (80) (9.0 7.4 (8.2
= 1= 9 13 0 22 3 4 15 0 22
g0l 8ts 28 (7.4 (0 (42 5.1) (1.5)  (85) (0 (42)
bShil 322 175 27 524 59 261 177 27 524
8 (100) (100} (100)  (100)  (100) (f00)  (100)  (100)  (100)
X 2(df) 19.854(6) ** 26.562(9) *F
#x p<.01
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A 57.7%7F AAUES FHRE Frd o 27 Fw

g 89.4% % w9 FvlETha SHEth FAAZTE AAUEe Tume] s

E5o AA 519%7F 2w FVEUL SHHeR oY 2Estal Ad(424%), 2T
o}

A 18 (42.1%)S wif- EHE
El

AUgo Fuse tiE 4o 27t YEHE 7

(F N-58 st wAL A5l AAWES Sr=
ErE=l WAL AH X
Pt
2004 800K 400H 500K 60CH ' 20mh G00H 400K 50CH o)
e s02s a0 N 4 o L W 10 1 24
T SUES  (36.8) (148) (289) (285) (.0) (21.0) (20.0) (28.2) (22.7) (11.1) (o35

10 155

x2 =22 253 .8 4 24 07 7 66
= =" 5 (52.6) (73.8) (6 0) (67.1) (80.0) (61.5) (61.4) (77.8) (64.7)

7 0
9 0
79 3
N (8556 I §i0,0
2 0 42
4 0
0
0

1
- = oro 2 y 4 1 6 0 4 1 1 12
22 S0ISX %S (105) (105) (9.4) (35.3) (0) (11.1) (0) (10.3) (15.9) (11.1) (11.8)
=0 g2 0 2 0 1 3 0 0 0 0 0
S0l &8 (0) (0 (.0 (59 (0 (B (0 (0 (0 (0 (0
& R 19 210 128 17 3 A 10 39 44 9 102
a (100) (100) (100) (100) (100) (i00) (100) (100) (100) (100) (100)
x 2(df) 32.747(12) ** 3.650(6)
% p<.01
(] IV-58) 3} o] stin odadd AAIY & Suo s F3 271 U=
7 A A3 p<0l oA 7ol AolE Bk WA 67.1%7F 25 U F

U St o), 50 FER 353%E W2 Su B grin Sty
WAL Ao w2 AAWLE Fulo] dE] o3t A7t dEE AT Ads
X 2(dD)=3.650(6) .2 F-2]%F z}o]7} e Aoz e

wAGHE AAREe] Fr=el el Fo3 ArE d=vhE ASd Ay (&
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(( IV-59) nAAEE AA YL Tnw
mi
:'

DA DEZ2 =
108 O/t 20 0]8r 20 0l&f (%)

oo 9 10 5 24
e 201238 (23.7) (29.4) (16.7) (23.5)
oo 25 19 22 66
x2 2022 (65.8) (55.9) (73.3) (64.7)
g2 202X 4 5 8 12
oS (10.5) (14.7) (10.0) (11.8)

- 38 34 30 102

HH (100) (100) (100) (100)

x 2(df) 2.241(4)

A9y o ek AAA AgE F o Foll giE] folst A JEVE HS
3 A3= (E V-60) I 2t
(E IV-60) A, A AAH A F=H
NEE Zct X
g — = ax
28 ME NE  BE  F) 07 st st mab B(%)
o 123 171 158 47 204 184 887 442 348 97 887
(89.1) (77.0) (88.3) (73.4) (92.3) (87.6) (87.6) (82.5)  (90.4) (85.8) ( 85.8)
. 13 44 10 16 5 2 [\ 0 24 15 119
(9.4) (19.8) (5.6) (25.0) (6.8) (10.0) (11.5) (14.9)  (6.2) (13.3) (11.5)
e 2 7 11 1 2 5 28 14 13 1 28
(1.4) (32 61 (1.6) (9 (4 (@7 (2.6 (3.4) (9 @7
03] 138 222 179 64 221 210 1034 536 385 113 1034
= (100)  (100)  (100) (100) (100) (100) (100)  (100) (100) ~ (100)  (100)
X 2(df) 50.555(10)  *** 18.733(4) **

sk p 001 % p<01
(E IV-60) 3 zFo] A9

A7 dErhE AES AT p<00l, p<Ol FEAA FoF AolE walt Aol

QA g16%7h Hekd AN Ase FuAgel FRAATI $HIAT A
o] 3o
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51
st 2 st HEY ]
HNH T mcear — S|
xsst sy assy 0 IS04 ZSHA zsw nssw (%)
o 280 138 24 442 48 232 138 24 442
(84.1)  (78.0) (92.3) (82.5) (78.7)  (85.9)  (77.1)  (92.3) (82.5)
Lo 43 35 2 80 8 33 37 2 80
(12.9)  (19.8) (7.7) (149 (13.1) (122)  (20.7) (7.7)  (14.9)
e} 10 4 0 14 5 5 4 0 14
(300 (23 (0 (26 (82 (19 (22 (0 (26
i 333 177 26 536 6l 270 179 26 536
& (1000 (100)  (100)  (100)  (100)  (100)  (100)  (100)  (100)
x 2(df) 6.407(4) 16.413(6) *

* p<.05

(B NV-61) 3} o] AT Aot HdA[H At 3 oo dia w23 A
7 devte AT A3 7% Aolvk gl AeE dEut. a2y A S
dhetd AAIE Ao Fd R & fod AU evkE A A= p<d
FEAA o Aolg HoTh WA 825%9 SHAVF FHAIHEAA HEH A
A Ak 34 oo dia s SH8AH

B Qg 9 WA A9 BoE A4 A% 2 oRel gl K At

5)

=0 o1y d WA 913 XA

& R o (9
200K  30CH  40CH  50CH  6OCH 200 300K 40Ch 508 B(%)
o 19 188 122 16 3 348 12 37 41 7 97
(100.0) (87.4) (93.1) (94.1) (100.0) (90.4) (92.3) (88.1) (85.4) (70.0) (85.8)
(.0) (8.8) (3.1) (5.9) (.0) (6.2) (7.7) (11.9) (14.6) (20.0) (13.3)
e 0 8 5 0 0 13 0 0 0 1 1
(0) (3.7) (3.8 (.0) (0) (3.4  (.0) (.0) (.0) (10.0) (.9)
= 3 19 215 131 17 3 385 13 42 48 10113
(100) (100)  (100)  (100)  (100) (100) (100) (100) (100) (100)  (100)

X 2(df) 7.872(8) 11.449(6)

(GE V-62) o} o] 4= 5l WAL A5 dstd A Ade 33 of o thg

FO8 A7 Qe BFR AT FAT Aok i Ao Yehgrh
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wAgEd et AAA A FH o giE] fFes AvF dEvhE 2SS
AE (F V-63) 3 2ol Fo3 atol7t gle Ho= UE
(FE V-63) A A AAA Ast =3
WAF WA HH bkl
104 0lgt 20 0l ot 204 014 (%)
o 37 34 26 97
(86.0) (91.9) (78.8) (85.8)
6 3 6 15
o2 (14.0) 8.1) (18.2) (13.3)
0 0 1 1
I (.0) (0) (3.0) (.9)
- 43 37 33 113
& (100) (100) (100) (100)
x 2(df) 4.131(4)
14) sk Al #e] A
A9 Add dA] Fe] Awle] dis] {3t 2 JdeErteE HEs Ade &
IV-64) ¢} 2t}
(E V64 A9, A HA] A7 zn|
Xt Zche & A
Ul 4
22 ME NS ZE ZI O SM BED DA oi(w)
e oS 60 65 88 17 97 76 403 260 112 31 403
B me (43.8) (29.7) (51.8) (27.0) (44.3) (36.7) (39.7) (49.3) (29.7) (27.9) (39.7)
B 64 131 68 32 105 114 514 221 224 69 514
-= me (46.7) (59.8) (40.0) (50.8) (47.9) (55.1) (50.6) (41.9) (59.4) (62.2) (50.6)
X3 Wolgs 1 16 12 10 15 16 80 32 37 11 80
-= e (8.0) (7.3) (7.1) (15.9) (6.8) (7.7) (7.9) (6.1) (9.8) (9.9 (7.9
o Tnloie 2 7 2 4 2 1 18 14 4 0 18
e HOIRE (1) (32) (172 (63) (9 (5 (1.8 (@7 (1.1) (0 (1.8)
. 137 219 170 63 219 207 1015 527 377 111 1015
= (100) (100) (100) (100) (100) (100) (100) (100) (100) (100) (100)
x (df) 44.381(15)  *** 52.128(6) ***
xxx p<.001
(E V-64) 9} o]l A9 HA] &) Anle dis] Fs 27 Ad=7te A5
A3} p<00l FFolA Fo3t ZFolE HAT AA 506% SHAF st AA
Feto]l Au i FHIR oY FFA S SHA 1569% = HAA] FFo] =g AWl
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) dte] Aol v fo% A7

ol

)
kI

oS )
o H

32
i)
e
o
£
-
td
K
>~
i
Lo,
_\3
A%
i
)
>,
o

f
N,

s

7He ASE A3 p<00l FEAlAM fFroldh Aols Btk wAb 62.2%, SHR
59.4%7F #etd AAl kel g AW Ata $HElal, A 49.3%%E Al #

o) vi% Avl gt $ekahe

%2

o

25N, T4, 1A st Al FEe] Anle] dis] fold AvF e
7S AE3 AdE (B V-65) ¢F )

(E IV-65) StAFE, ASE AA &2 A v

Sid A= Sty ASE bShyl
o - i S| ——— ==5 _ _

ZSHY a4 DSe FL0Y fed U8 1suy oy
e MolUS 185 66 9 260 40 145 66 9 260
7 MORS (56.9) (37.7) (33.3) (49.3) (67.8) (54.9) (37.3) (33.3) (49.3)
=2 Moy 120 84 i 221 14 106 84 17 221
L= MOIXS (36.9) (48.0) (63.0) (41.9) (23.7) (40.2) (47.5) (63.0) (41.9)
o o 14 . 1 32 4 10 1% 1 32
£S MOISS 4.3) (@©7 @7 (61) (6.8) (3.8 (98 @7 (61
T 6 8 0 14 1 3 10 0 14
° Mogts GO F(4.6)(\ weliy mpmia.dole ng (187) (1.1 8 (0 (27
- 325 175 o7 527 59 264 177 27 527
a (100)  (100)  (100)  (100)  (100)  (f00)  (100)  (100)  (100)

X 2(df) 25.988(6) ** 36.746(9) ***

xxx p<.001

(E V-65) o o] SR stk A4 Bekel Aol sl folE A7 3
2 RN freld AolE wath 254 569%7 B

o A wEo]l v Am St SEE L, AT 63.0%, T 480%E A
H

et AA] Ao Aulo] dhef

% A7k =7hE AFH AW p<0l £EAN Ko Aols mYTh 1EHA
630% 34 475%7F 7 Avidcha $Had, 25w Ashd 678%, 258
A 38 54997k ek AA wgel W A dtn e

SRE Q@ Al Aol we dHstw A el Auel gl ol A
AEThE AFEH ARE GE V66 3 2ol @ Aol7t g Ao
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G V-66) SHPE, A g A4 #ee] 4w
S22 Ay B WAF HAH PSh]
20CH  30CH 40CH 5004 e0CH 200H  3och 4ot 50t (%)
We oS 8 47 50 5 2 112 3 14 13 1 31
v MS O (42.1)  (22.3) (39.4) (29.4) (66.7) (29.7) (25.0) (33.3) (27.1) (11.1) (27.9)
X3 WoluS 10 134 68 11 1 224 9 23 31 6 69
= MS (52.6) (63.5) (53.5) (64.7) (33.3) (59.4) (75.0) (54.8) (64.6) (66.7) (62.2)
2 Mo e 1 0 37 0 5 4 2 11
&35 ®S (53) (128) (63) (5.9 (00 (98 (0 (119 (83 (222 (9.9
o - 0 3 0 0 4 0 0 0 0 0
0= Molets 0 (14 (8 (0 (O (1 0 (0 (0 0 (0
- 19 211 127 17 3 377 12 42 48 9 111
d (100)  (100)  (100)  (100)  (100)  (100)  (100)  (100)  (100)  (100)  (100)

X 2(df) 17.416(12) 5.018(6)

15) AA] #gho] g5y

Aoy, gerd A4 wael S astel Bl 24 Ade (E V-6 3 2

—

N e Al

B | N R =
228 ME= N2 = FIl UF g stoo WA 94(%)
StH0A HiE 27 26 49 14 34 34 176 79 69 28 176
IS MEel  (19.7) (11.9) (23.7) (22.2) (15.5) (16.3) (17.3) (14.9) (18.2) (25.0) (17.3)
Mz2 UstXAS 40 70 50 12 77 59 308 189 100, 19 308
4)  (17.0) (30.2)

= (29.2) (32.0) (28.9) (19.0) (35.0) (28.4) (30.2) (35.7) (26.
2

st 010t 63 104 75 28 103 104 477 225 190 62 477
P2 (46.0) (47.5) (43.4) (44.4) (46.8) (50.0) (46.8) (42.5) (50.1 .

stk Absl 24ol 6 10 6 4 6 8 40 21 16 40
ZHHE LA & (4.4) (4.6) (3.5) ("8 )mm(D%7)__(B¥3) m(3.9) (4.0) (4.2) (2.7) (3.9
I8 1 9 1 5 0 3 19 15 4 0 19
(.7) (4.1) (.6) (7.9) (.0) (1.4) (1.9 (2.8  (1.1) (.0) (1.9)
- 137 219 173 63 220 208 1020 529 379 112 1020
& (100) (100) (100) (100) (100) (100) (100) (100)  (100)  (100)  (100)

x 2(df) 429470200  *** 30.765(8) T °F

xxx p<.001

N
=2

CE N-67 3 ol Aed, qwd 44 wgel drstel val pool F
A fol@ AolE nedth AFAY 475%, WTAY 500%, 4714 468%9] #
A7t AN Bgom Bl BE Frk AATD $EHAL, NLAY 2B7%, BF
Ao 2229, HAAY BEA 197%= A4 Bgow dwlA] e B §e A

selstglntn Skahch sH, ShRm, WA AA Bl Sxadel g 2o

=)
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(G V-68) st &, ASE A dde] ssas

st 22 s s PShil
PSS ~=5 ~=5

sssm  zZatm pssm O Ioon TSUL ssu nsstu gy
SHIOIA B2 50 24 5 79 8 42 24 5 79
st el (156.3)  (13.6) (18.5)  (14.9) (13.6) (15.8)  (13.5) (18.5) (14.9)
MZ2 WstiaS 17 63 9 189 22 95 63 9 189
oas (35.9)  (35.8) (33.3)  (35.7) (87.3) (35.8)  (35.4) (33.3) (35.7)
sl CHet =010t 136 77 12 225 26 110 77 12 225
A2 (41.7)  (43.8) (44.4)  (42.5) (44.1) (41.5)  (43.3) (44.4) (42.5)
DES L ARE| 2O 13 7 1 21 2 10 8 1 21
2AHE LA & (4.0) (4.0) (3.7) (4.0) (3.4) (3.8) (4.5) 3.7) (4.0
e 10 5 0 15 1 8 6 0 15
(3.1) (2.8) (.0) (2.8) (1.7) (3.0) (3.4) (0) (2.8)
< 326 176 27 529 59 265 178 27 529
= (100) (100) (100)  (100) (100) (100) (100) (100)  (100)

X 2(df) 1.480(8) 2.391(12)

(E V-69) 5= WA A&l A #e] gFa
o0 oy WAF AH Sl
RS

20CH  30CH 4004 50CH  60CH 20CH  30CH  40CH  50CH gi(op)

SW0A & 6 32 28 3 0 69 3 14 9 2 28
e RS MHaetel (31.6)  (15.2)  (21.7)  (17.6) (.0) (18.2) (23.1)  (33.3) (18.8) (22.2) (25.0)
Mz2 Wstias 5 54 36 4 1 100 2 5 12 0 19
o= (26.3) (25.6) (27.9) (23.5) (33.3) (26.4) (15.4)  (11.9)  (25.0) (0)  (17.0)
askofl cHst 8 109 64 8 1 190 8 21 27 6 62
SQ0F M2 (42.1)  (51.7) (49.6) (47.1) (33.3) (50.1) (61.5) (50.0)  (56.3) (66.7) (55.4)
s Ab3 2o 0 12 1 2 1 16 0 2 0 1 3
2HE 2 = (.0) (5.7) (8) (11.8) (33.3) (4.2) (.0) (4.8) o)y (1) (@7
I1E} 0 4 0 0 0 4 0 0 0 0 0

(.0) (1.9 (.0 (.0) (.0) (a.1) (.0) (.0) (.0) (.0) (.0)

X T 19 211 129 17 3 379 13 42 48 9 112

(100)  (100)  (100)  (100) ~ (100) ~ (100)  (100)  (100) (100)  (100)  (100)

X 2(df) 22.179(16) 11.196(9)
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A9l Hebd ek d wbE golAdd dis] 24 Ay (R V-70) ¥ 2T
(F IV-70) A9 Aol 383 W7o go]A
g acg S
Pl _ _
a8 HE M2 2E 20 O B4 T2 DA o)
e ma 26 19 34 7 52 36 174 123 48 3 174
T o (19.00 (87 (19.8) (11.1) (23.6) (17.4) (17.1)  (233) (127) (@7  (17.1)
s 67 125 88 33 121 136 570 244 242 84 570
=8 48.9) (57.3) (51.2) (52.4) (55.0) (65.7) (56.0) (46.1)  (64.0) (76.4)  (56.0)
A 41 65 43 18 38 31 236 136 78 22 236
=98 (29.9) (29.8) (25.00 (28.6) (17.3) (15.0) (23.2) (25.7)  (20.6) (20.0) (23.2)
— 3 9 7 5 9 4 37 26 10 1 37
T EYUE o) @) @) (7.9 @1 (1.9 (36 (49 (28 (9 (36
A7 137 218 172 63 220 207 1017 529 378 1 1017
& (100)  (100)  (100)  (100) (100) (100) (100)  (100)  (100)  (100)  (100)
x 2(df) 45685050 C 59.581(6) T
xxx p<.001

g E5ol wANT6.4%), SHTE(64.0%)= Wwol ettt @atioy S 257%=

stu e EFTEE] 7

s =a cs M zsstn z=sstn .. cs
S  Fstd NESM 35 013 4dd_ed SHY  LSHY oy
e st 83 36 4 123 13 70 36 4 123
T HR (255)  (205)  (14.8) (233) (21.7)  ( 26.5) (20.2) (14.8)  (23.3)
m aF 158 71 15 244 34 124 71 15 244
== (48.5) (40.3) (55.6) (46.1) (56.7) (47.0) (39.9) (55.6) (46.1)
= St 71 57 8 136 10 61 57 8 136
=eS (21.8) (32.4) (29.6) (25.7) (16.7) (23.1) (32.0) (29.6) (25.7)
= 1 5 14 12 0 26 3 9 14 0 26
e =88 (4.3) 68 (.00 (49 (50 (3.4) (7.9) (.0) (4.9)
bl 326 176 27 529 60 264 178 27 529
= (100) (100) (100) (100) (100) (100) (100) (100) (100)

X 2(df) 12.339(6) 17.534(9)

p<.05

StTRel me dstp R ool Wl FAF Ak destE A

o|\
o
i)
=
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Fel@ Aol7k Qe Ao Uehgth sAAZE Astw TE ool maNE
p<.05 Tl A gt AolE HATH 53 556%, et AT 56.7%, =
oy mehd 47.0%7F BIn SREo Fe 30.9%E BESAY S B
Astrha ek grE A ¥ wAb Aol wE sehd W Golyel o)
M (E V-T2 9F 2o 193 2Hol7t gle Aoz YEyt
(E V-72 S0, wAb Aow segk i) §oly
steg oy WAL o1 P
P
200H 3008 40CH  50CH  6OCH | 200H  30CH  40CH  50CH  gy(9)
e ma 3 25 18 2 0 48 0 1 2 0 3
T e (15.8)  (11.9)  (14.0) (11.8)  (0) (12.7) (.0 (24) (43 (00 (@7
o &t 13 129 86 11 o) 242 9 32 36 7 84
=S (68.4) (61.4) (66.7) (64.7)  (100) (64.0) (75.0) (76.2) (76.6) (77.8) (76.4)
2ost 3 47 24 4 0 78 8 9 8 2 22
=8 (15.8)  (22.4) (18.6) (235) (.0) (20.6) (25.0) (21.4) (17.0) (22.2) (20.0)
He =@a 0 9 1 0 0 10 0 0 1 0 1
T =e5 (.0) ( 4.3) (.8) (.0) (.0)  (2.8) (.0) (.0) (2.1) (.0 (.9
bl 19 210 129 17 3, 378 12 42 47 9 110
< (100) (1000  (100)  (100)  (100)  (100)  (100)  (100)  (100)  (100)  (100)
x 2(df) 8.172(12) 2.763(9)
MAZEE Fep B Sol el maME (E V-7 3 2ol K% A7} gle
Ao 2 ey
(F V-7 wAZHE B PR goiy
WAF WAHS bS]
104 0|g* 20 Ol 20 Ol &t o (%)
o ms 0 2 1 3
e 82 (.0 (5.6) @.1) (27)
s 33 26 25 84
=8 (78.6) (72:2) (78.1) (76.4)
Spa 9 8 5 22
=8 (21.4) (22.2) (15.6) (20.0)
o ums 0 0 1 1
e =88 (.0) (.0) (3.1) (.9)
- 42 36 32 110
A (100) (100) (100) (100)
X 2(df) 5.216(6)
17) J3ad AAA 229 AHAA
A9 el dAA ARl A sl s Ay (B V-74) ¢ 2T
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(F IV-74) A9d, A AA A 2529 HAA
Xt Zche A
BH :
28 ME N2 »E ZI) U3 st BED DA oy(%)
e =0t 15 41 2 5 0 8 71 38 31 2 71
- = (110.9) (18.7) (1.2) (7.9) (.0) (3.9 (7.0) (7.2 (8.2 (1.8) (7.0
=2 =(} 52 81 39 21 13 67 27 115 131 27 273
e = (38.0) (37.0) (23.1) (33.3) (5.9) (32.5) (26.9) (21.8) (34.7) (24.5) (26.9)
=} 67 91 118 34 187 128 620 335 206 79 620
o< (48.9) ( 41.6) (66.9) (54.0) (85.0) (62.1) ( 61.1) ( 63.6) (54.6) (71.8) (61.1)
=2 9o} 3 5 9 3 18 2 40 30 8 2 40
e = (2.2) (2.3) (5.3) (4.8) (8.2) (1.0) (3.9) (5.7) (2.1) (1.8) (3.9)
o 0 1 6 0 2 1 10 9 1 0 10
e 80 (o (5 @8 (0 (9 (5 (10 4N (3 0 (10
bl 137 219 169 63 220 206 1014 527 377 110 1014
= (100) (100) (100) (100) (100)  (100) (100) (100) (100) (100) (100)
X 2(df) 198.93220) ** 38.490(8)
xxx p<.001
A9y AAA A2zl AAMA di& o A7t A=THE HST 2
p<.001 FFolA Fot 2ol= BATE A71AYG 85.0%, &A1 66.9%, 1A A
62.1%9 SEA7F AYywrt HAgsitn @t ont AYAA 380%, AFAY
37.0%, FFAY 333%c 29 UL SHEIIATE A, FHE WALl HAA A
2% 3] Fost AE v AeE YEEY. 2534 S 158 A
A A2z HAA da fod A7F AeTE HSS AyEsE (E N-5 ¢
kagu
(B N-T) SRAFE, A AAAE 259 HAHA
stAy 2 BT =7
zsma sy psma OO ZSRD OZSHD oy gzaw gy
e =ct 12 25 1 38 1 9 27 1 38
T8 @7 (42 @8 (72 (1.7 (34 (15.2) 38  (7.2)
X2 =0} 65 45 5 115 13 52 45 5 115
x5 B (20.00 (25.6) (19.2) (21.8)  (22.4)  ( 19.6) (25.3) (19.2) (218
= 220 97 18 335 38 182 97 18 335
Hgottt (67.7)  (55.1)  (69.2) (63.6) (655 (687 (545 (69.2)  (63.6)
= 20 8 2 30 2 18 8 2 30
£= 8t (6.2) @5 (7.7 G (64 (6.8) (4.5) 7 G
o 8 1 0 9 4 4 1 0 9
e gt (25) (6) (0 (1D (69 (1.5) (.6) (.0 (1.7
bl 325 176 26 527 58 265 178 26 527
= (100) (100) (100) (100) (100) (100) (100) (100) (100)
x 2(df) o6.188(8) ** 41.748(12)
wk p< 01 ##x p< 001
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(G2 V-75) ¢} o] Ao whe A A= Aol thaf fofst
A7 A=The ASd A p<0l FEellA fref e Abols Hnh Al 636%7F

Ao AN MReEst 9anin $Hadol 34 08%E 27 FAG
g

(FE V16> 3R, 3 A9 244 £59 5394
steo oy WA A P
S

2004 30CH 4004 5004 60CH £ 2004 30CH  40CH  50TH  gy(%)

Mo =0 1 24 3 3 0 31 1 1 0 0 2
T (5.3 (11.4) (2.3) (17.6) (.0) (8.2 (83) (24) (.0 (.0)  (1.8)
x2 =0} 9 78 40 3 1 131 2 13 10 2 27
== (47.4) (37.1) (31.3) (17.6) (33.3) (34.7) (16.7) (31.0) (21.3) (22.2) (24.5)
e aC) 9 103 82 10 2 206 9 27 37 6 79
o< (47.4) (49.0) (64.1) (58.8) (66.7) (54.6) (75.0) (64.3) (78.7) (66.7) (71.8)
X2 oo 0 5 3 0 0 8 0 1 0 1 2
—e = @ 0)g¥(®2 4) (2.3) (.0) (.00 (21) (.00 (24) (.00 (1.1 (1.8
We wot 0 0 1 0 1 0 0 0 0 0
T (.0) ( 0) (.0) (5.9) (.00 (.3 (.0) (.0) (.0) (.0) (.0)
=7 19 210 128 17 3 377 12 42 47 9 110
= (100)  (100)  (100) (100) (100) (100) (100) (100) (100) (100) (100)

x 2(df) 39.090(16)  ** 11.238(9)
#x p<.01

CE IV-76) 3 o] SRR Qgol me AAA AdemEe] Ag4el o Fo

@ A7k QETHE AFE A} p<0l FEAA KO AolE weth AA 546%9

$RAZL AN AResdl o Agshria gag ot 200 SR 527%, 300
4

GEV-TD 3 2ol fol@ Ael7t g Aow ey



(2 V-7T7) A ZEE HAA A 259 2 AA
DA DEZ2 ® A
104 0/ 20 0] ok 20 0] At 84(%)
o = 1 1 0 2
L ©2.4) (2.8) (.0) (1.8)
- - 11 10 6 27
£= 80 (26.2) (27.8) (18.8) ( 24.5)
_ 30 24 25 79
et (71.4) ( 66.7) (78.1) (71.8)
- 0 1 1 2
x£3 8 (.0) (2.8) 3.1) (1.8)
] 42 36 32 110
& (100) (100) (100) (100)
X 2(df) 3.032(6)
18) AA &7ke] A A A
A9 Aol AAA AN TR =279 de foE rF dEvtE ASE A3
= (E V- % 2
(FE V-7 A9d Jad AA 37 27]9 FAA
NE oy ® A
B -
22 HE N2 2E 20| o7 sd  SRD DA o)
e 6 710 PN 37 27 9 1 37
MY (4.4) (3.2) (5.8) (11.1)  (.9) ( 2.4) (3.7 (5.1) (2.4) (.9 (@37
Sxgs 24 34 29 Y e ol 65 81 29 175
o (17.5) (15.6) (17.0) (88.1) (10.6) (19.9) (17.3) (12.3) (21.7) (26.1) (17.3)
e 95 160 118 29 169 149 720 373 275 72 720
oes = (69.3) (73.4) (69.0) (46.0) (77.5) (72.3) (71.1) (70.6) (73.5) (64.9) (71.1)
e mo 12 17 14 3 24 1 81 63 9 9 8l
T e (8.8) (7.8) (8.2) (4.8 (11.0) ( 5.3) (8.00 (11.9 (2.4) (8.1)  (8.0)
. 137 218 171 63 218 206 1013 528 374 111 1013
(100)  (100) (100) (100) (100) (100) (100)  (100)  (100) (100) (100)
X (df) 52.627(15)  *** 49.479(6) ***
xxx p<.001
(E IV-78) 3} zro] A Hod AAlA AAlg7re] A7)0 s Fold 27}
SA=7be A A p001 oA T Aol Belth A A 71.1%7t
AAE7Ee] Arle] o] Agsittn SHEEd oy FFAYG 492% SHAE AAE
kel A7 FA Gttt sk SHA), SR wARE FAAA AR A A of

_63_



gk &2l AAl 71.1%7}

i

AT 2007k Agsha SEshg ot WA 27%

O

ANFR 277t RAGSHE D SEas

= = = = = =
254, T4, 1153

2 A%® A E VT

Mo AN ANBRE 2710 Wel el F At det

9 oF &o] g Aol7t §l= ALE YERTH

(E V-7 AT, ASE AAF3E 2719 AAA
stA = s &Y |
s matal Dcsa oM ESSD ESSD g —
2SS ESl =1 34 0|5t 4E~64 S=5HS lssrd H (%)
e sxo 19 8 0 27 6 11 10 0 27
ToTee (5.8) (4.5) (.0) (5.1)  (10.2) (4.2) (5.6) (.0) (5.1)
CoRiCst 31 31 3 65 5 26 31 3 65
Toes = (9.5) (17.6)  (11.1)  (12.3) (8.5) (9.8) (17.4) (11.1)  (12.3)
mcrs o 234 116 23 373 38 196 116 23 373
Tes = (72.0)  (65.9) (85.2) (70.6) ( 64.4) (74.2)  (65.2) (85.2)  (70.8)
- 41 21 1 63 10 31 21 1 63
T e (12.6)  (11.9)0  (3.7) (11.90 (16.9) (11.7)  (11.8) (3.7)  (11.9)
=7 325 176 27 528 59 264 178 27 528
(100)  (100)  (100)  (100)  (100) (100) (100) (100)  (100)
X 2(df) 11.024(6) 15.846(9)
SRR AF 9 WAL dHo w2 AAA HA|FIEe] A7) tiE] Fogk x Q)

=7t A Ade (&

V-80> 3} #o] o3 Aol7t §le Aoz Yeyh.

(B V-80y s, WAL 3839 AA 3 2719 HAA
ste0 oY WA AH S
poye
200H 3008 4004 50CH  6OCH A 20CH  30CH  40CH  50CH  oi(%)
e smg 2 4 2 1 0 9 0 0 1 0 1
T TS (105 (1.9 (1.8)  (6.3) (.0) (2.4) (.00 (0 (21) (.00 (.9
Cicrs o 2 39 37 3 0 81 1 11 13 4 29
TTEE T (10.5) (18.7) (29.1)  (18.8) (.0) (21.7) (8.3) (26.2) (27.1) (44.4) (26.1)
xcrs 15 162 84 11 3 275 10 28 29 5 72
TeE = (78.9) (77.5) (66.1) (68.8) (100) (73.5) (83.3) (66.7) (60.4) (55.6) (64.9)
e mor 0 4 4 1 0 9 1 3 5 0 9
e (.0) (1.9) (3.1) (6.3) (.0) (2.4) (8.3) (7.1) (10.4) (.0) (8.1
=7 19 209 127 16 3 374 12 42 48 9 111
= (100)  (100)  (100)  (100)  (100)  (100) (100) (100) (100) (100) (100)
X 2(df) 16.598(12) 5.952(9)

AR AN AEFe] ol ta foF A Qe AFE A%
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= (E V8D 3 2ol foI@ Aol gl

A

10 0jo 20 0]t 20 Olat o (%)

e 2y 1 0 0 !
(2.4) (.0) (.0) (.9)

CoRiCrs 7 11 11 29
ToeE = (16.7) (29.7) (34.4) (26.1)
S 30 22 20 72
Tes T (71.4) (59.5) (62.5) ( 64.9)

e =g 4 4 1 9
(9.5) (10.8) (3.1) (8.1)

B 42 37 32 111
(100) (100) (100) (100)

X 2(df) 5.989(6)

Al FAad sk JAAA v e ol AUt =S HEE 2
= <(F V-8 9 7t}
(F V-82) A9d el HgrAH =%
Xl ot = & A
HH -
29 WME ONME TE FI O stal BS2D WA ()
e o= 28 34 20 7 28 35 162 112 30 10 152
T =7 (20.9) (15.8) (12.0) (11.3) (13.0) (17.1) (15.2) (21.5) ( 8.1) (9.5) (15.2)
[ 61 108 86 19 101 87 462 267 151 44 462
s =7 (45.5) (50.2) (51.5) (30.8) (47.0) (42.4) (46.3) (51.2) (40.6) (41.9) (46.3)
r o mors 36 61 52 25 85 70 279 - 104 132 43 279
=S =ET 0 (26.9) (28.4) (31.1)  40.3) (16.3) (34.1) (28.0) (20.0) (35.5) (41.0) ( 28.0)
e == 12 9 iR 51 WA 05 38 59 8 105
T EES (67) (56) (54) (17.7) (23.7) (68.3) (105) (7.3) (15.9) (7.6) (10.5)
3l 134 215 167 62 215 205 998 521 372 105 998
& (100) (100) (100) (100) (100) (100) (100) (100) (100) (100) (100)
X 2(df) 81.939(15) *** 75.906(6) ***
xxx p<.001
(E IV-82) ¢F o] A9 Aol 3eat HoA A wrEeof s gk 27}
AETHE o8k 2ol E R A HA| 46.3%7}

(50.2%), 747149 (47.0%)T 0.2
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FE4, DB A5 AYANY TEEA Bis I A7 Yt

=
S stM =Y =
TP =35 =38

zssy zam nssy OO IEoL ESRY sms nssu gy
We o= 82 26 4 112 20 62 26 4 112
TR (255) (1500 (148) (21.5) (357)  (23.6) (149  (14.8) (21.5)
o o= 165 89 13 267 23 142 89 13 267
E3 85 (514) (51.4) (48.1) (512 (41.1)  (540)  (50.9)  (481) (51.2)
o oz 53 43 8 104 7 46 43 8 104
3 BHE (165)  (249)  (29.6) (20.0) (125 (175  (246)  (29.6)  (20.0)
o moi= 21 15 2 38 6 3 17 2 38
T ERE (65 (87 (74 (73 (107 (49 @7 (74 (7.3
i 321 173 o7 G 56 263 175 27 521
a (1000 (100) ~ (100)  (100) (100)  (T00)  (100)  (100)  (100)

X 2(df) 12.382(6) 21.308(9) *

shggel me oty RelAd wEEd dal foF A7 AstE A5E 2
B GE V-8 3} el %@ Aot gl Aoz vehuth
SAAZE Aew AAA wER s fdF At deste AFe 2%
p<05 FFEAIA fel Aol® waTh WA 51207t oty BelAdel Geld
Zshn $ead
G BEEA dal FoI@ Ah At
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1

Lok
ol
e
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o
g
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PRRE A
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(E V-84 S5, aA ddd AN BEE

s2D oy DA o1 A
.
2000 300h 400k s00i 600k ' oock  sonh 4004 500H o4 (%)
e o= 6 13 9 2 0 30 1 4 3 2 10
T =S (31.6) (6.3) (7.1) (125) (.00 (81) (9.1) (10.0) (6.7) (222) (9.5
=2 o= 6 77 58 9 1 151 7 15 17 5 44
e =5 (31.6) (37.2) (45.7) (56.3) (33.3) (40.6) (63.6) (37.5) (37.8) (55.6) (41.9)
xo o= 6 75 46 3 2 132 2 19 21 1 43
5 =95 (31.6) (36.2) (36.2) (18.8) (66.7) (35.5) (182) (47.5) (46.7) (11.1) 41.0)
e soi= 1 42 14 2 0 59 1 2 4 1 8
T =SS (53) (20.8) (11.0) (125) (.0) (15.9) (9.1) (5.0) (8.9) (11.1) (7.6)
o 19 207 127 16 3 e, 1 40 45 9 105
< (100) (100) (100) (100) (100) (100) (100) (100)  (100) (100) (100)
X 2(df) 25.994(12) ¥ 8.687(9)

CE -84 S 2ol SRR md Aot AelAd BE:Eo s F9F A7t

05 FFoA o8 Aol 2 Btk 400 SRR 457%, 50

%0,
rlr
N

Ll
m
ol\
e
il
)
(o}

AN
=

R 56.3%7F 25 vttt SEstgl oyt 300 SR 565%E &Sttt
SHeGTh wAF A mE HEH HAAM wEwe] ds fFod At Ade
2

3} §ea ol glE Aoz vy

s

mHARE Aoy AN wEw g fF Ak ALE AFH A%

(F V-85 & o] Hel3 o]}l gl Ao vpeh

(B V-85 A ZHE HINA wtEw
DAl DR
3
TER 209 0/oF 204 04t
= 2 3 5 10
O &= (51) (8.3) (16.7) (9.5)
- 19 14 11 44
£33 =5 ( 48.7) ( 38.9) ( 36.7) (41.9)
o 15 16 12 43
L= =035 (38.5) (44.4) (40.0) ( 41.0)
o 3 3 2 8
e == (7.7 (8.3) (6.7) (7.6)
_ 39 36 30 105
& (100) (100) (100) (100)

X 2(df) 3.392(6)
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<Abstract>

An Analysis on the Special Features of Science Museums and

Spectators’ Satisfaction

Jung, Myoeng A

Educational Administration Major
Graduate School of Education, Jeju National University
Jeju, Korea

Supervised by Professor Park Jung Hwan

The purpose of the study is to analyze the spectators’ degree of
satisfaction on the field trips to science museums. For the purpose of the
study, the researcher selected 6 science museums and randomly chose
students and parents who watched the contents of the museums. The
researcher distributed questionnaires to the spectators and 1022 copies of the
questionnaire were returned and analyzed using SPSS/PC 12.0 program.

The results of the study suggest that articles on exhibition at museums
were articles related with science subjects and domestic science which could
be found generally around our daily life, but it seemed that high technology
articles were insufficient.

Second, spectators could operate articles and descriptions on how to operate the
articles were presented mostly using illustration panels. There was no articles
using audio—visual systems or helpers.

Third, spectators usually visited science museums on weekends or during
vacations, and elementary school students visited most frequently science
museums. Also, spectators wanted amusements which could be felt by direct

experiences, and teachers and secondary students wanted to learn scientific
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principles.

Fourth, students preferred to watching articles at their pleasure and ask
questions to helpers when they didn't understand illustrations. Also, spectators
replied that there was no impressive articles, and articles were easy to operate,
but there were many articles to difficult to understand.

Fifth, more then 50% of elementary school students replied that watching
articles were interesting, but 39.9% of middle school students said that it was not
easy to visit science museums. also, teachers and parents replied that they
dissatisfied with convenient facilities

Finally, to revitalize science museums, it should be secured articles which
reflected regional traits, and helpers should be stationed to explain or answer
questions from spectators. Also, the curriculum and articles on exhibition should

be matched to enhance educational effects.
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